% :
Classwork Zf MATH 1113 Harrison Chapman Name: KJM/‘ Fi

8:00 6)1' 9:30
1. Find the following values for the given functions.
fx)=x+3 g(x) = »*
a) (f +g)(6)

(G+3) + 'f({c\/; = 9+7%¢ _@

A

b) (f —g)(6)

(6+3) = (6%) = F-3¢ = (- LF)

c) (f2)(6)
(6t3)- (D)= T3¢ =329

d) (f/g)(6)
; B 9 ' = !/
( G+ 3)/@)2’) = /z)g k¢
e) (fog)(6)

ﬁ(g(@) = HLH = (L5213 ’-’@

f) (g2 f)(6)

4§t = gLeen= (C+3) :@



2. Find the following functions and their domains, given,

fx) =vx—2 g(x)=Vi—2

a) (f+8)(x)
(Jr-2. ) + (ﬁ)/: 2 |x-2

Domain: [Z—, C’/J‘B
b) (f —8)(x)

mw X —1 - O

Domain: C'L/ m)
c) (fg)(x)

(ST | = x-2

Domain: [L} 00>

d) (f/g)(x)
(i) _
/(\ e ©
Domain: (‘LJ 00)
e) (fog)(x) —
Hyty = 4 (S - )W)

.

‘ > 2
_— W ned! X Z2 amd (:1132%2

Cé,0) X2 6



3. Two functions are defined by the tables,

t 910
T | 3|8

w
<o
=

]
\O
o

x [9]0]3]8
Gx)|0]9]8]3]6

Find the values, if possible (if not possible, say DNE):
a) (GoT)(0)

6(1L0) = ()= 2.

L=

b) (ToT)(0)

T(T(N)= 7( = 9.

c) (GoG)(0)
c(&(0)= G(1)=0

Tolr
d) (Sne)(4)

T(el)= T(¢) e

4.If f(t) = #* — 3 and g(x) = x + 8, solve the equation (f o g)(x) = 0.

flgl) =0 (xe8) =7

wC(xff%):o / S tﬁ

CNEE Fﬂ E+dn, - (7))




